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500 X3
510 2 nExX3S
208x3s (29 &)
Z.p-8-2 0l &t o pIE-E" HZE2
E5 Al 1,398,952 959,400 439,552
500 L3 932,700 959,400 A26,700
510 2 NEX=S 932,700 959,400 226,700
202X =S 932,700 959,400 A26,700
1-03 7132 932,700 959,400 A26,700
< XANSF A > 932,700 959,400 226,700
O g&EaA=ENA SSME=X 927,500 959,400 A 31,900
o H=s3tAgMA Z & 444,000,000 444,000 465,900 221,900
o SHEIALMA Z & 261,000,000 261,000 290,000 229,000
o FUSESALHEL Z & 112,300,000 112,300 110,200 2,100
o NMIAHEESHMALAMA Z & 47,000,000 47,000 51,000 A 4,000
o GSL EfrZedA 2,600,000& * 14l 2,600 0 2,600
o BIRZRNAS BHL2LEHA 1,300,000& * 14 1,300 0 1,300
o ZFAHOILQINALE A 17,000,000& * 14l 17,000 0 17,000
O SHAZHNY ZBAE=X(SENAS) 5,200 0 5,200
o GSL Ef e A 5,200,000& * 14 5,200 0 5,200
TUSLUEAHN 466,252 0 466,252
d=US 466,252 0 466,252
LAz 466,252 0 466,252
711-01 =MAHL A= 466,252 0 466,252
< XANSF A > 466,252 0 466,252
O XNE=MAHLHS 466,252 0 466,252
o BED IS5 BHYFLA &% (20204 II2)
20,000,000& * 14 20,000 0 20,000
o BED BNR HYTLH &I (20204 II2)
20,000,000& * 14 20,000 0 20,000
o MUS DU, ANY ARY DB X (20204
13) 40,000,000& * 14 40,000 0 40,000
o fodsE MY Ii2Z€=2Y HIZYE HX (20204 J13)
20,000,000& * 14| 20,000 0 20,000
o NYUS ASY 0ISET HYFLA &3 (20204 II3)
20,000,000& * 14 20,000 0 20,000
o NYUS RASY F2Y HYTLH LI (20204 IIZ)
20,000,000& * 14| 20,000 0 20,000
o NYUS WS T2 BYTBLH ST (20204 II3)
30,000,000& * 14| 30,000 0 30,000
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